

J Mall-Lahore

Raiwind Road, Lahore, Punjab

РКК 47.25 Lac то 1.66 Crore





Details & Description



DETAILS & DESCRIPTION

MODERN WAY OF LIVING:

J Mall is built with the purpose of giving everyone a modern way of living with all the luxury and conveniences at the most prime location of Lahore. Our team planned this dream project with keeping our residents in mind and giving them true relaxation of living by providing all entertainment, branded shops, and international food chains all in one place. J Mall exhibits luxurious suits with imported and elegant kitchens attached with balconies that give mesmerizing views of the city's skyline. Through diligent planning and execution, J Mall has a perfect architecture for commercial and residential property. Once you live here, you will never want to leave.

The exterior and interior of J Mall are designed by professional architects for providing our clients all the facilities they require for comfortable living, commercial activities for socializing, and living the glamorous life with your family. Similarly, 4 Ground Levels of J Mall, namely: Lower, Upper, First & Second Floors are exclusively reserved at J Mall for branded outlets adorned with everything you wish.

Commercial and Entertainment

The heart and soul of our ravishing mall are the commercial activities for accommodating highend shopping brands to international food chains for socializing and living the glamorous life with your family. Similarly, 4 ground levels of J Mall namely: Lower, Upper, First and Second Floors are exclusively reserved for branded outlets adorned with everything you wish

PAYMENT PLAN

PAYMENT PLAN									
	Category	Area	Rate per Sq/Ft	Net Price	30% Advance	Monthly Installments	Quarterly Installments	10% Payment on Possession	6% Monthly Renta on 100% Payment untill Possession
	1 Bed	350	13,500	4,725,000	1,417,500	236,250	708,750	472,500	23,625
s	1 Bed	672	13,500	9,072,000	2,721,600	453,600	1,360,800	907,200	45,360
Apartments 3rd to 7th Floors	1 Bed	639	13,500	8,626,500	2,587,950	431,325	1,293,975	862,650	43,133
Ē	1 Bed	602	13,500	8,127,000	2,438,100	406,350	1,422,225	812,700	40,635
761	1 Bed	555	13,500	7,492,500	2,247,750	374,625	1,311,188	749,250	37,463
2	2 Bed	1226	13,500	16,551,000	4,965,300	827,550	2,896,425	1,655,100	82,755
P	2 Bed	1216	13,500	16,416,000	4,924,800	820,800	2,872,800	1,641,600	82,080
ts	2 Bed	1128	13,500	15,228,000	4,568,400	761,400	2,664,900	1,522,800	76,140
en	2 Bed	1110	13,500	14,985,000	4,495,500	749,250	2,622,375	1,498,500	74,925
Ę	2 Bed	1066	13,500	14,391,000	4,317,300	719,550	2,518,425	1,439,100	71,955
par	2 Bed	1030	13,500	13,905,000	4,171,500	695,250	2,433,375	1,390,500	69,525
<	2 Bed	1017	13,500	13,729,500	4,118,850	686,475	2,402,663	1,372,950	68,648
	2 Bed	1014	13,500	13,689,000	4,106,700	684,450	2,395,575	1,368,900	68,445

CEO MESSAGE

Located in the prime locale of Main Raiwind Road near Thokar Niaz Baig, J Mall has been approved by the LDA and will feature luxury apartments offering international standard facilities and an extravagant lifestyle to the city's residents. Moreover, the project is located only 2 minutes away from the M2 Motorway and 5 minutes away from the Ring Road, while it also features a smart security system, dedicated parking, and a roof-top terrace.

MARKETED BY



New Lahore Properties

We Deals in all type of Properties like Buying, Selling, Residential plots, Apartments, Commercial and Agricultural Land and Renting of Properties. Our Prime purpose is to secure your investments. We are Honest, dedicated and motivated Real Estate Agency. Please Contact us for your Real Estate needs and Queries. We will provide you best Solution of your Queries.

Lahore Office

Head Office

UAN

75B Fazaia Housing scheme 2km L Raiwind Road, Lahore

2km Lahore Road, Sargodha

<u>(+92) 304-111-2627</u>

All Rights Are Reserved. 2022 Jaageer.com - Jaageer Marketing Pvt. (Ltd)